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Which of the following statement/
statements is/are correct?

m approval

completely online.
B. It applies for the construction of

independent houses on plots sized

more than _50*80 square feet.

Applicants are given a maximum

of 30 days to pay the fees to the

BBMP through an online payment

gateway.

D. BBMP plans to issue a final
building license in 15 days with a
digital signature.

Options:

(1) ©Only one statement is correct

(2) Only two statements are correct

(3) Only three statements are correct

(4) All the statements is correct

Which of the following statement/

statements is/are incorrect?

A. Rajyotsava Awards, the highest
civilian awards, are conferred
annually by the Karnataka
Government on the occasion of
Kannada Rajyotsava, marked on
November P\

B. The award carries a purse of Rs.
1 lakh, a 20-gm gold medal and
a citation.

C. A committee of 5 members is
formed to select the awardees in
the field of medicine, law, music,
theater, &:%.\ma‘bﬁmﬁ _many.
more.

——

D. This year the government is set .

to confer the awards o%@

Options: -
(1) Band D" Aand C
() CandD” <(4) AandB

3

Which of the Statement/statements is/

are correct?

A. Karnataka plans to offer sjx days.

of paid menstrual leave annually

for women only in private sectors.

B. Kamataka is the second state to
come out with such a policy after
Kerala.

Options:
B only
(3) Both A&B
(4) None of the above

Recently Kamataka Government has
launched (‘Ovitrap Basket). Consider
the following statements. -

A.  They are the .mwmnmm_ traps
designed to attract and kill
mosquitoes like Aedes.

'B. Itisa pot shaped device filled

with water and chemicals.

C. It was first launched in BBMP,
Bangalore. ‘

D. Electricity is required for
functioning of the device.

Which of the above statements are
wrong?

(1) D only
(2) C only
(3) C and D only
4)  None of the above
P.T.O.
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A. LY e aquma;& UIZ
&oas.m.m

oA} ke CTIN 3y
w
(startups) RHaRey, LEINIR

4&.

B Py 23 ¢
%) IowdRen uo&q&d.
Mo TREE D escSope 2024
A<c=_:_2mm-0_og_ startup

Challenge 2024) ©3), aBedrt
T Bops,

B3 Teen, .u&ww..\ oA "Ro e D
dmoagoone gort el 2.3
AeTdhIs.

C. 22230 $300,000 wxszms
ubmuuw. TBoHID D3I v
T00hsdorivor uuulm.uum@uuuy
(mentorship) BBadn=dy.

D.  and), 25, e, @nod Boem 3

@ 03 2oZm s aeRbodn

(Department of Electronics,
Information Technology and

Biotechnology) esdofrs.
‘esolyriet
(1) A RZC 3ng,
(2) C @3 D 303
(3) oo Bedtrish BoakNS
(4) oo sBedind NI

. T.0.

ik |

T T

Which of the following are declared ag

Fish Sanctuaries in Karnataka?

Mattur - Tosahalli, Shivamogga

— Tunga River

B. . Scétharfadi,\Karkala —,
| mn,&:uﬁ&.aqoq

Shishila, Belthangadi —
Kumaradhara River

D. Bhagavathi Chaya Kolla,

Surapura Taluk — Krishna
L menia SO

River e
How many pairs are matched correctly?
(1) Only one is correct
(2) Only two are correct
() Only three are correct

(#)  All the above are correct

Paper-1 I(F)_R
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Which of the following Statement/

statements is/are correct?

A. The Government of Kamataka hag

recently launched ‘VentuRISE-
—_
Global startup Challen € 2024 ¢

recognise, reward and support

growth stage startups.

B. The challenge will focus on

Electronics System Design and

Manufacturing only.

C. The winners will share a prize
. poal of $300,000 and receive

mentorship from industry leaders.

D. It is started by the Department of

Electronics, Information

Technology and Biotechnology.
Options:
C.u A and C only
(@ Cand D only
() Al the statements are correct

(4)  All the statement are wrong

P.T.O.
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7 Match the following Ramsar site and
0 the States:
r_‘h.v_ Ramsar sites States
o A. Rudra Sagar Haryana
m ﬁmwa. L
M B. Bakhira .’ II. Tripura
wildlife:
Sanctuary
6 C. Sultanpur III. Uttar Pradesh
“l National
W0
| HUNH_A
| ©
o D.[Pala=Wetland IV. Mizoram
| ‘ :
| -\ Answef Options:
| © ptions

" A-1v, BIIL{C-L D1
\@\ @.m-:_@ DIV
() AL, B-IL/C-D) DV
4) AL B-IV, CIIL, D1

Consider following statements

3100615

A. They are montane forests that
thrive well in %.

B. Pine (Pinus wallichiana), Deodar
(Cedrus deodara) trees grow well

. in _Am_v forest.

Which of the above statement/

statements is/are correct?

Answer Options:

(1) A only

(2) B only

Akw\v\\woa A and B
above

(4) None of the

] 3100615
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r the following statements

9 "Conside .
Programme -

about Blue Flag

s Flag Programme is
Foundation for

m:ino:%m:nm_ Education and is
artered in Z%P
h and Padubidri

\momnr mnmw_:mm_mm onﬂmmoa
beaches from Karnataka.

C. India has the highest number of
Blue Flag certified beaches in the

world.

Which of the above statement/
statements is/are correct?

A and B only
(2) B only
(3) A and C only

(4) A, B and C only

10 During prolonged space missions
>.w:.o=m5w often experience ECmo_m
atrophy. This is primarily due to

(1) Hyper gravity ~

-

(2) Microgravity

x&w@ caloric intake
iqgmna radiation exposure

PT.O.
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(1) A,B,Ca3D
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(3) B,C,ARE
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11 When a plant is 9682_ to uneven

waterj
" ; ng, certain parts may grow faster
ﬂ than o_ronm > Causing the plant to bend.
o Identify the pess Xplanation for this
(=] phenomenon,
v
(4] , ,
(I) Roots Brow towards water sources
(2) Water stimulates growth in the
drier side
n o i
ﬁ A ¢ ra plant requires water mE.
.1 . "photosynthesis X
SON :
A ; Growth hormones accumulate in
"

wetter side to promote cell
elongation

_..»“ 12 According to the WHO. India is
M..o eradicated from which of the following
W diseases?
M.M Polio, Trachoma, Yaws, Dlague
{ —
and Small pox.
ey
io, Glaucoma, Filariasi
Plague and Malaria. g
H (3) Plague, Trachoma, Malaria,
fnnw Glaucoma and m_mnm\:w\w\
O sickness.
|
™ (4) Plague, Small pox, Yaws,
Wﬂm | Filariasis and Sleeping sickness.

Paper-1I(F)_R

. i 1]
- gt L ]

_u. Which of the following are essential
nutrients' for human body?

Carbohydrates and Proteins \

>
B. Vitamin B and Vitamin C

C. Cholesterol and Vitamin Uf@
D. Magnesium and Phosphorus

E. Iron and .Nm:o

F. ‘Water and Fats

Choose the correct answer from the

options given below:
(1) A, B,Cand D \§

\AN\.P. B, D and E .
(3) B,C,Aand E

4 B,C,AandF

14  Name the process of measuring the

concentration of chemicals in biological
fluids to asg

ess the health of an
n:<:.05:.~05~.

;nnﬁo&uzo:

—— =¢iation
2) wwo-_dos:ol:w

\aﬂgs

(CY) wmoaomgammos

PT.0
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A WP3mR L HncRNA S

ReS® JohoIee
B. %aawuumu L. 3oxpeleddor
Bpceses’ DIR
C. 03 1L o5 2330
w53 DR
Dred

D. Smcdb3zer IV. I8Rmew 303
= =22
T3 ﬂ.uuw&o&.w
E. w3, V. ot moeene
 Rogeas
VI 3rgoladmend
SV
S BNRD
VIL obog, 398 3y
338
STesoenisd
v33 erohrid: |
(1) A-Ii, B-II, C-I, D-IV, E-VI
(2) A-IL B-I, C-III, D-V, E-IV
(3) A-VIL, B-L, C-1V, D-II, E-lII
@) A-L B-II, C-III, D-IV, E-V
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16

B3 IR Besn<Iy, Ionedr:

B3T3 (4) :

TR0w0° O VBB BTN,

398 (R) :
BBt aQodie 2.0 B3 odpYule
2o whdLobe g @@ BIeBY)

BVDRRCAT oD Bedoerd3dd.

3IR JeBTOR eod,nYod IO o3RG

eIy,

(1) "I 35003 303y 20w ofen

BB O3PAI Toris LDloa

Z3Tor30b ROoIRT HB3BoIPA.

(2) B350 3 I3 20w ATE
RPN &IV 300 B3mrHobh
Roohed dITBohE.

(3) &,3mo0I0d» FBoINPAT ©TT

w06 I

(1) Pdeeud 3 w8 SoRe SWPS.
'

P.T.O.
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15 Match list T with List II

List I List IT
A. EQ&S. I.  MicroRNA msa;
Gene H.omc_maoz
B." Medicine II. Computational
protein design

III. Traumas and

fragility
of human life
~ D. Chemistry IV. orld free of
nuclear
3 weapons
Synthesis of
,acmnEB
dots
VI. -Nucleoside base
modifications
‘~ - ... VIL Machine
., Hom_.a.um
and artificial
neural networks
Answers: :
.A:. A-III, B-II, C-1, D-1V, E-VI
') - AL, B, CAIL D-V, E-IV

\Q\v\?s_.v B-I, C-IV, D-II, E-III
——

() A-L, B-IL, C-III, D-1V, E-V

16 Conside

@ true and Reason is the correct

r the following statements:

Assertion (A) :

Passenger pigeon is an extinct species.

Reason (R) :
A species is said to be extinct when
there ‘are no more individuals of that

species alive anywhere in the world.

3100615

Choose the correct answer from the

options given below:

Both Assertion and Reason are

explanation’ of the Assertion.

3100615

(2) Both Assertion and Reason are
true but Reason is not the correct

explanation of the Assertion.

(3)  Assertion is true but Reason is

faise,

3100615

(4) ‘Both Assertion and Reason are # ,w

false.

PT.O.

3100615
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17 The “Natural Capital Accounting and
Valuation of Ecosystem Services”
(NCAVES) project, launched in 2017
Taims to enhance knowledge and
develop policy applications of
environmental-economic moooc::nm In
this context, which of the following

statement/statements is/are incorrect?

A.  The project is .::Eoinaoa by the

United Nations Statistics Division,
United Nations Environment
Programme, and the Convention

on Biological Diversity (CBD).

Ministry of Statistics
Programme Implementation

o (MoSPI) is E\o\m‘?mgow for

the implementation of NCAVES
in India.

and

At the sub-national level, in the
State of WE:&SWP a suite of
ecosystem accounts has been
developed led by the Indian
Institute of Science.

Answer Options:
(1) A only
(2) B only
(3) C only

(4) None of the above

Paper-1I(F)_ R

et B S PRI 7 WO T XY
ﬁwl.-..\l.mbdl r .__:;_s:.___-:-__

18

13

Consider the following statements/

statements about @m&wz Leopard;

A. Indian Leopard is a nocturnal
: r

”

B. They are unique in the sense that

animal.

female Indian Leopard always

\ weigh heavier than male Indian
Leopard.

C. seopard safari was launched at
\Wmﬁﬂmnmrwnm Biological Park.

D. Indian Leopard is classified as

\ “Vulnerable” by TUCN Red list.

How many of the following statement/

statements are ao.._,.nﬁ..v
(1) Only one statement is correct

(@) Only two statements are correct

AA3)  Only three statements are correct

(4) Al the four statements are correct

P.T.O.

3100615 3100615
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D. g3 Momodw ESLS] 0TI,

@ HMA\WA&HW% A

E == uﬂ.m.fd\“u\rnu..r.\ﬂ/\in\,w 2oc=nal

ZmseE e=coscs 20242538 %,\.I.nwuo ,

Zomt 2mZernigay (Spice) S2cind
w2 D ZERS =0233T

ErZeTT Chas, UoRa® =32
.

EETEL D wARE e (Spice
Prrc) iy L LT D

(1) #Ezr=zs

(Zy Zzzro

(3) zoTgemz

(%) ===
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19 mgmaﬁ the following under the

digital detoninitiative launched by the
Governmefit of Karnataka:

A. The initiative is launched in
collaboration with the All India

Game Developers’ orum
(AIGDF). —

B. The initiative has special
emphasis on gaming and social
media. i

Choose the correct options:
(1) A only
(2) B only

(3 BohAandB -

Neither A nor B

Karnataka Government decided to roll
gati Patha® scheme 1o -

Tmprove and develop rural road
network mw.mHan:nu:m. and

qualitatively-
B. The scheme will cover a total
length of over 10.000 kms

~——— T

covering all the consttuencidS of

the staie.
Whichefthe statement/s is2re correct?
) A only
@) Bonl¥
3) A 2nd B both

(9 Neiter AP

m.nvn-rﬂa\—w

announced in the

will provi
and wﬁﬁﬂmvﬂﬂ in respe€

A. Providing information on mo:\

of spices.

0 Chilkamagatuny

th

__-___-______-._._.|

e called Karnataka

new -schem : .
x\u.:rn mE:..:m.:: mohusa was

pudget. The scheme

de the farmers with guidance
ct of the following?

testing and soil characteristics.

B. Making farmers aware of

opportunities related to mno_.mWM\
and value addition.

C. Creating market linkages for

farmers to get a good price \En\

their produce.

D. Selecting crops based on the soil

characteristics and market
demands.

Options:
(1) Only one statement is correct
(2) Only two statements are correct

(€)) v three statements are correct

4) All statement are correct

2 -
2 As per the Karnataka Budget 2024-25:

A Spice Park will be developed in
district under public-

private partn s -
Qﬂwgv 10 encoura -
WHOIHMHM. o 2< spice

farmers and 1o promoie export

(2) Kodaen
3) Mangalumy
) Hassan

PT.O.
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RooR 3 :
v [PRD Tallinee ia 26 SodR oS Feod/seRinh ZBLII3?
RO v3TID, erolmns A HReth B By IS0,
(1) A, Ba%C T Jorfmadldog) 12#h3re. N 1
@2) B % C vHBRDA Tore 12300 © | o
(3) A 3B A30omy Ted 5&80&#.&@ w o
= Rp3eob) wrgd Hosrobd - f O
4, A e tmortnclcrogch, N
B.  2uobddtvod didomd den
24 Swods decanrivdy Soren. emEnotiegpoty i
A, 233 3033 weete- wUEA DHTVIIR, FoR08S w230},
B. Bodpfecd SoImI @vrte- o by
. C. et oy dworwsd vod s )
ToeBe3RRT BN, P
C. BonImADJoFmBIFE - 0L |- g e BoZmohyy © | O
D, 2ond Jo3ppS e - 3outh " Qesodb3IRg WRRHE BodoBan m m
201t Dedend wolyivon voing 0B} sy, HReth dobdrids ) | o
» SBoBTodRn Hrodrd, - ™
VBVRIY, O e2ab R o e
o et 3, RooinAT e gu ;
(1) o8 % d TBoiRA 1) A Ba3yC i |
(2) BB BecanH M zL s (2) B,Ca3%D -
(3) ed eecand 303 R0 () A Ca3D
4) og BedNP AR oINS (4) e agdo
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paper-1I(F)_R PT.0.
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In the context of the Budget for the
state for the Financial Year 2024.25

A, Kamataka has allocated towards
iculture, which ig higher than

. En. average expenditure on
agriculture by Indjag states in
2023-24, _

B. Karnataka has allocated on rural
development, which is lower than

the average allocation for rural

development by Indian states in
2023-24,

C. - Karnataka has allocated on
eduction, which is lower than the
average allocation for education
by Indian states in 2023-24.

Choose the -correct options:
(1) A,BandC

(2) B and C only

(3) A and B only

(4) A only

Consider the following matches.

A. Rice Technology Park - \
Karatagi

B. Maize Technology wﬁw..\

Ranebennur

Coconut Technology Park - Udupi :

Tur Technology - Park .\W&ahmmm

Choose the correct answer from the

option given below.

24

(1) Only one match is correct

(2) ©nly two matches are correct
RMEV\ three matches are correct

%: matches are correct. -

. Paper-II(F)_R
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26

4.___-_-:___:-:-__-!.
ing t/
:ch of the following " statemen
i s/are correct?

m»maman:ﬁ 1

E-khata has now been mandatory
A. -

and commercial land.

. 1 lan s been
B. . >m!o=::nmq\n\~‘m
exempted from(e-khata-

It will help avoid fictitious

C. ; ;
tions using fake manua
M:w%ﬂmnmsm streamline the process.
Options:
(1) A and B only
.\& A and C only
3) and C only
A,Band C

Which of the fellowing statement/

statements is/are correct?

A. Mysuru Dasara festival is
celebrated over_12 days starting

- with Navratri and on the 12 day,

the idol of Goddess
Chamundeswari- is ied in
grand procession.

B. It is celebrated because the
Oonmmmm Chamundéswari stew t
demon Mahishasura on

Vijayadashami day.

-C. Z%.mcn:m Dasara is the state
- festival-Nadahabba of Wm.gmﬂm._m\

The custom of Mysuru Dasara

uOmH_Q®

PT.0

i i f all types of -
egistration © y .
MWMﬁMnm:om including residen

—
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27 Deodtbon Beshne Bads
A wd agwgsy:
BDTR D) IeeRT Id R
PRI 2R3 3oRuwh3 Boeod
DPVARANS. isi
B.  Zi@edn 1300 Seeoshos 3o
INEelal) 2390dn3N Dod wne @D
12 IRenon 2, @BDI3R Q0
Bedeprd3s. o

C. =n33d8 83 Rend 250 BdeqnD

\

3o 20005, BIRIY 46 JpIBRD -

2830 o w3,

D. &33s3Rd JoeriRde s e
JpnndY, 3B er3ard3BR. ard
3c00 B3RIT wricdh BeHdw,
3odpTenen 503y,

83 D3 oed BePd/Bewdnish

2D oden:3?

(1) C D3 D 03,

2) A 3R B 30,

@) A DD C 3

4) B 3D =@n3

28 B3 [wodI VeKINIIy SO
SIRIIRVoT ROOIPT esohobR) LDk
A 0D c.nw Belodn D3 JHOR REED

ST I3, 8&?%@&8@9.
B. d550%3 &wwlawo_ bwwavw @,ﬁuﬂw
Forp DFIVTo3B 2ok R/OIR
. Bpemiont @03, 15 B3RS &3
Be2obIy DRI -
C omid HOR Fpedort 45 oY
| 233 Sedobdy, DedeRrdd.
203 .
mwéﬂ,ﬂo% oot 33, BOOLNT

Q) o=® BePIRD uﬂ%vm
3) ol Bewdndn zooww,ujm 5
(4) avd Scobnid spg 3oolRn

—...wﬁn-f:ﬁ,vlmﬂ

BPROOTISI -

18

29 @ Soodpens 30303 o

30

S0oBITy, Soreds:
A, & oleexsSoin mwawmu@m 2, eQorye
Ro3BBRIRCDN DR BBoR

CREAT IZY @oezTen T3y

TORPLETIA odpHde oBeQR
C PR Teddwexmd (DR)

TowoRanod IpIc 330

&BodRen Liee IOHIT.

B. e desdecssadn (Diabetic
retinopathy) Tze (93Fo)
DI BEeInI)y 22HS 3
200D 230IRAE Horie 83 FHD:dex
DS N G & IWDIRFRD
e HRRIBIE, rHdoberiwadd.

33 2ed3 ol Bevd/Bevinwd

jeleMioiatayd

(1) Asn3g

() B 3»3

() A D B a5@de

(4) DedI cZBe O

Jad, ©9,08 D03 B9 odS cdws Bewd/

BeP3rich BOAWT/Z?

A ‘BD, 79,03, w3l evgd I3
SRR Yoedg 298 B FIRveNT,
T 6330 BTR DR RO, BabI
SeBeRIS. :

B. 33, =08 mn.wlauw aod.mﬂnu.
PR, DI am,&nv Tore B9
RIRIY FeRedFHn Rweied

TRODERTRY, BHI,QZOT:

wpedes® domnd B3 ZIRIRY,
wqmotzﬁmuauj&. )
B3 eI 0IeR BeP/BePInD
RDoIeNS?
(1) A3»3
(2) B 3»3
3) A D3 B 23@e

U 4) eI odnue @9

P.T.O.

615

3100

9]

10061

(4]

310061

)..Ju.....z(i_.. Sy @on -y
VR iy

27  Consider the following about
Neelakurinji flowers:
A. It is the famed shrup found in
Western Ghats, covering the
slopes of. Tamil Na

These flowers are said to grow at
an altitude of less than 1300

meters and it biooms once in 12—

years.

C.  There are 250 variations of these
flowers found across the world,
of which 46 variations are seen
in India.

D. These flowers also attract bees
that pollinate, it leads to extraction
of a rare kind of honey.

Which of the above statement/

statements is/are correct?

(1) C and D only

(2) A and B only

3 and C only
\‘k&\w,\mza D only

28 Consider the following statements and
choose the correct option from below:

tnity leave can be availed

nly by married male government
employees. :

B. Single male parents like
unmarried individuals, divorced
men and widowers are only.
allowed a paternity leave of 15
days.

C. Married male parents are allowed
a paternity leave of 45 days.

Optio .

(1)~ Only one statement 18 8:..02

2) All the statements are .8509

(3) All the statements are :Sonno”

(4) Only two statements are o,o:mo

Paper-11(F)_R
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19

- o about Project ;r
Consider the following —_—

: N2
,IW\E\&%\MM\@WMMMQ aims to .m:u_u._ws MUM Pt
~ creening of patients with mrm, € on_ m
M<E~ Bo_u:w, screening mmSo.nw_u mm d s
initiate early treatment for n:m_ e ¢
retinopathy (DR) at completely n
cost. .

B. Diabetic retinopathy is an eye
condition that affects the blood
vessels in the retina and can cause e}

: ~
vision loss and blindness_on., .

people who r%m\ﬂ o

Which of the above statement/ w

statements is/are correct? ™
(1) A only
2) only

3) Both A and B
(4) None of the above

A. Namma Smaraka are

the ™
archaeological sites that are
recently excavated and depict the

hist,

and culture of Karnataka.
amma Smaraka sites can be
adopted by corporate companies M}
to conserve, preserve and protect (Vo)
these sites and develop basic ©

tourism infrastructure, ot
Which of the above statement/ .Fﬂ
statements is/are correct?
) Only N
\TNKW\OS_% MWU,

3) w.oﬁr A and B
{4) None of the above

. PT.O.
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o nora I 21 WAAC 1= GG o TiS | WASLIIES | e ——
‘ n.R0.LTF. %035, NRIRREI A QLTI LI DL P —
31 33’ 2 9
0 HOS 38180 33 o
T 3 09 Rue dien Bobd, BE 33 DY 343 3903 Anbacbay .
fﬂnw TN Dorp: Gile]ata i = 31 Group the given figures into three Consider the following for question
S 2.2 Beadold D00 3P duuvu%yw. 39R3 classes using each figure only once : 33 and 34:
\al 2 RodeodR oesaindth: ; A-wealthy merchant had once come to
o : meet Tenali Rama with i LN
A o 33 SRODIY, 3, B2 By 1 TR ) problem : _ mo:oﬁ::m. ~
YT erode B3 2eeo, R 2ty JWN D A. She wanted to distribute her 9
RTE B 3o Redodican property equally among her two &
Roeden WOz, ry S daughters, Arya and Sita, and one m
. 989 09 Rt RU " son Sonu.
-0, 17 mcoow&o&g&ua%na@.&g. 7000, *‘ B.  She has Rs_7000 in form of farm M
i . , 3@ 3. 3000 7 3 produce, I house worth Rs. 5000,
© 2380b 3 23nodh (R 3y 3em : _H_ E.lll_ —3parcels of fand of Rs. 3000 each
o ‘ Bdw. 100 3 30%) 333 admwlau s, and some gold coins of Rs. 100
= (1) 3,4,9; 5,7, s €. oh chader w3l ey, wnmvod each. ]
i -4 9 5.7.8 1,2,6 20w m a3 Sdoibay erris: g “ parcel of and and o meuan anle 10
. 2 » 4 1 : . arcel of land and a house cannot
@) 1,5,6; 2,4,8; 3,7,9 wwmnw Qm%m. e B3 o (1) 3,49 57,8 1,2,6 be divided partially. Also, each m.
R 23 TR, IBED 5 1 . child receives an 1
) . 1,5,6; 2, . equal number: O
(3) 4,6,8 3,5,7; 1,2.3 D. 3mdtosh esaobi, $E, o] ) 4,8,.3,7,9 5 of gold coins. o
erobe S 3) 4 ,' ; - Arya receives least from f: —
4 1,2,7; 3,5,9; 4,6,8 - &Mw&m,wwym& 3R G&mow 3D (3) 4,6,8 3,57, 1,2,3 produce while Sita receives mﬁﬂw ™ ]
T - 23 93,03 Bed) Brddsh. @ 1,2,7 3,509 4,68 w._m.m,wmﬁ when Tenali Rama I
. divided property.
33 Aecbant et Y 3mob evdid am? _
EIAIHNYY o3 Josd03, (1) 3Bw. 3000 | 33 How much did Sonu receive in farm
(2) Bn. 4000 32 “Eind”the ¥missing number in the produce?
BoRBAWD: ; ¢ Aing: o
following: (1) Rs. 3000 00" _1n
(3) Bn. 2000 : 2 > o ©
A&v 3. 100 \ (2) Rs. 4000 MQ o
- 1000 K (3) Rs. 2000 ©9
) R T . R T O (4) Rs. 1000 /6@0%
3 X , 34 eobed 333 wdemvod 2 V AV\ 4
. 2R aRp? J X {
28 | 44 (1 1 2 5 28 [44 ™ . 34 How man i "
. 5 \V Y y parcels of land did Arya ™
5 2) 2 K - % receive?
14 | ? s (3) 3 14 |7 w m 1
C (4) BRI WY C S FPoN @ 2
K ) e K o) ¢ a1t ®» 3
. 4 C :
35 PR 33 3otod sorsob weyse Ams < «\/,w.v 3 ) Connot be determine
(1) 34 RD o BeBedD BdBIRDTS. 34 % 0 .wm Rupesh introd _..m
ords BpSee BeBesdR Hooreled? 7@ P daughter of the only e aethe o
@ 19 (1) Rrecdd Rood 2, 19 ' < - ; \% 4<mww4Ioémmwoozsaﬂmﬁnaﬂwxw nMﬂw =4
(2) 2on BRD : 4 (1) - Cousin pesty | &
3) 18 (3) 18 LW / (2) Niece : o _
(@) R o (3) Daughter ™ ]
@ 15 %) g, @) 15 Y (4) Aunt W_u I
21 d
Paper-11(F)_R o
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VBeeBR: I3rieh 36.38 o3 B #9A3
R mwabxauu BORe evgon:

A,B,C, D, E, muu@oqﬁum&aao
I3 DR Bnm 2 wolle O3
w.um.o.wavﬂw D odn C odbh we 3339
moavwg% E R033 A az0s F 3
G&t&&@ﬁu@ B oo C ob odz38ems
TR BN 93 2,03 DB HTBBe

luunwn.uauv.. A odn werend 303
&uDO&@Uu%

C o mwwuw Wﬁoa&g _~
(€9)

)]
@)
@

36

TpzrEieg] | Lo

e

@ > 9

G ob B3BO cIPOTES?
‘(1) E
@ A

et el

1 AMV HW i yl3 PISTRY!
@ D

omdpcor E olps RIngms?

o)
@
3)
@)

33¢
53¢
233¢
43¢

‘D—uﬂ_‘\uuﬁs\uﬂ

22

39

40

41

‘(@)

2ot JEF, 1RabO, MADRAS ey

B

45 vaua&mla 3or3odd a3 :
BT BIBEIe dmu&nmawu. 33N
o3 geed o7 .
1 33 Hy
34 it
3) 35

(4) APeBRRTOIOY

NBESBT ao@y wddd, & fomodd

BOMBAY o3y 81t wdadbeisah?

(1) ANLAZX
(2) CPNCBZ
(3) CPOCBZ
(4) ' DQODCA

Be3B AR Huenes vy
BbrRy dacor, oD 34, dodod

ZoBsodh Rt weyd FeedTID

BB, BATYI” 2o &aﬂomw%. s
Dot B DR et
Qrieled?

(1 Bn

@) Ao &

(G) Aoedd Romod ﬁ‘u‘
@) 3on 30

(+

3100615

0 i
vl 38 What is the position of E from left?
6 N .
O ) 3rd
()
1 mﬁr [
™ i gees: o @
3) ond )
« )
[ 1) . 4th
& SO

11-RT.0.

L.Q0.8T". AV,

NRIRRERID

Direction : Answer the questions
36-38 by considering the following
' seating arrangement:

A,B,C,D,E, Fand G are 7 friends
sitting in a single row facing North. D
is to the immediate right of C. E and A
are neighbours of F. B is to the
immediate left of C and on second
place from left most end. A is at the
right most end.

3100615

36

Who is in between C and E?,

555 f _m_z

37 Who is the neighbour of G? ar Te
(1) E _
R

3100615

@ D

i B mmm -

39
is twelve from top. What is his rank
from the bottom? CG\,.
B —7
i 3 a\..
i
w -
. Y
I 5o
>
(3) '35 1
(4) cannot be determined v
w
40 If in a certain language, MADRAS is
——

coded as NBESBT, how is BOMBAY -
coded in that language?

(1) ANLAZX

CPNCBZ ,ﬂ N

(3) CPOCBZ =~ pH&P p»\v
NG S By
(4) DQODCA PulN
S G—\/W u

Deepak said to Nitin, “That cow E ing
football is the younger of the two
brothers of the daughter of my father’s

wife.” How is the boy playing football
related t Deepak?

) Son r 7
(2) Brother : \ .»\.\
(3) Cousin ke

Papef-II(F)_R

Nephew

In a class of 45 students Aditya’s rank

1
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42 =
©I® WOIY A aay
RIBVOB 3,9 B00dJoB 73e _
o R B ain =0 45 o 2
RV3Y, 0BT 213 o003 153¢ o (daeg S Q0d)
- 3 3%
RT803y g ¢ RIOB. By 208 IO, DR 0 42 1 ‘.
o0Jorw A & 2 RIONRNETT o3 n a queue, the position of A from the 4 i i
- R ; 5  What is the greatest
3o Bctyy o RIIIY Lo TR Roadodn olRyw ? o ﬂ front is 7% and the position of B from . : i :c&cnn o.:mm_o:m
M 305 ) . . 0 s > 7 o uwh the front is 15" and 215t from the back. | into ei:nr three straight lines (of
(2) 283 - 2) M ﬂ WHOHM find the position of A from the ~ infinite extent) can divide the plane?
3 . 6 () ack. -
MAW wouq : : & , O & ) 30m - ,w\.,\\ i OB
18¢ 4 v v -
o o @ 6
4) 8 m xﬁxm
B3 oy 3 @) 318t ¢
3odo G 7
2 58 WY Be3d 1060 3 | . .
SR ROB = . : T : ‘ > .
3R 0D Be., o8 46 _ “ 8
8% iz i il 981M0®meoﬂwu ) PVEdA0Z Sod=,0o SYwad, ﬂ 43 A person has a total omgﬁ in ‘ . l
2:4:7:3 Blerdm3gan. ﬁ&%@,. s - i ﬁ,um_&”owo.mmo& WOITY FYaad, O :L cons of five rupee, two rupee, one—
om0 = D 3D B, POV )< i e Jupee and fifty paisa coins in th
RIR? - . OWTPACE wovsodhdy & w : e There
(1) 80 o 1 g %Y, '™ () proportion 24/7:3. Find the number of {fiere are more adults than boys, more
(2) 280 - e sl odRsdre benoess 38,03 3 B3I, fM o two rupee cons. .\Y : c-boys than girls, more girls than families.
mv 160 - torrigp BooBYOFT, r v wdwmmed oo mw 203 k ' no family has féwer than 3 children,
) 120 ] devownid 805 Rosy azp? | @) 60 7 then what is the least number of
: W 4 : _ | \A\Wo s : families that there could be?
44 391 deBend B3, 28D BePInGIy, DR . il / : (H 4
e Besdee INIIY, Beods. %a%ml&u.% A.Mv 35 5 44 The question given below has tv 2 &>/y¢\
by v .
AB[omO ToATIS Soe®E IeBToR LB), 2 ¥ H statements followed by E.RM @ 3 .Aw 2 )\v\
3eRPEINFY 0dx ScBrReIrdd 4 1 W 0w conclusions. By assuming the 3 2 : \,\
Fosc3m0R BBodPAS? 4 e s m statements are true, find out from the <1 Cm%/v o
. ) ,N ] 3y [43] given conclusions, that which of the : ] N
BeP3ri<h: 47 %&: 8 goussl 20 M conclusions is logically correct. 4\& - - .pu\\
. () DR wpnend Seoneens |47 mE @8 ou33y ST deoingd ‘Satements 57 e Y , :
(i) oinFBe DHesonwh HeERIY oboZrdedrt oG, Sd) LBk Hueth © () Al doors are tables” " @mu&ﬁ A ten foot pole is dropped into a milling-
3eseR: Reg downiven odntipydmen I3ORRND. ‘ m_u o tables are chals = saw and randomly cut into thrce shorter
RS - opnclusion : - les. i o T
I. odFae QHW“UAG m”mﬂ lﬁm B3 BT Boomardd | 32onwR _.b " NG doors are chairs @ wao... ) MMnomm ,.Sumﬂ is N.Sn probability that these
II. ol e ePNTIFY Berodys Rosdeobd amy? o | O chairs are doogy” Wb T - Pieces will form a triangle?
L 3o deaprisd eohenivens . ; o © IIB"Some tables are doors [Co Y. !
ev33 Q.Owu@lﬂwo.. n 12 “ m (] Answer Options:  ° 5 Kl A
(1) e I DRI : @ w3 o B ml S ) : &> _F
g . ey (C - ) t r
2) deSo I 3 1T (3) 2/3 ) e 2/3 -
ot { .. p
(3) oo X 4) 1/4 e 04 *4 ’ % 4 . ]
4) aIried oeIEe Y ! . | : Hm_.i . R
- o . RTO. , P.T.O. !
Paper-II(F)_R -
e ¥ mee
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3INIIRLD oy 2 \ : tatement/
9 oa ; the following statem
. oo R, BeV3/BeP3r<h Wodon® 49 SZwed oFTE 0D WRTBuwe 48 How many of the following statement/ 49 Which om m [ 0
VP ddons . ! . ¢ o e e correct about Specia
M Seee DR B30I Aéoowv .au&am., So&um&qal i wSﬁEan are correct about H_nm_caam statements ar -
ROCRAE? ‘ o) ._: or ES:m Wooﬁ wnmmgq Operations of AS_&;,@ .O&B@ O.o:z.o_ \O
, zo@oozao@ mavu Q&ua &%Q&?&l& \0 STETRI S
A o worddn = > , 0 ks =
S° QeRne 3, BOGeoe RO oINS3? byt : £y m A. Itis found in the evergreen monowﬁ\ s L,
BRI %cd%a-@a&anw 2omDuHIB. “ B\ | eco-region of Andaman Islands. A ™
A 8343 B¢ (IB3emT) non : A. Operation Soft Gold aims towards
B. 23 3u33r93, 20 i v i
AFTeOD wovE andden, Gloowuauao&u& @3B IZWed B. These structures are made’ by curbing the menace of illegal
{Zauu p = . - . .
TROIRD BaY, o Vo Uuau%wvimoé%ﬂaﬁm Ancet (! indigenous  Jarawa _tribal wildlife trade in Tibetan antelope i
33RnPINVon IBBe3 BoRPI N A ﬁ communities which have (Shahtoosh). ~
. i | Bpo¥oE Dolnd. . L e 1 A
23INLY 5oIEIBrBdSy, HorRw : A M performed in extréeme climatic %
i 3¢ IR R p ., 3 - —_— —_— . e~ ¢ ¢ 5 e F
ISP D) ZZBoH IBI 2ot . B 33 = a%ﬁ_‘@m D oS o ooza,:_mw,m for owﬁE& B. OvoB:os ¢SE=Q aims to stop m
VR = 3 N o encapsulat four 5 Eex
A R P d4ee to fiukic o i ey the illcgal sale of wild animals ™
;7. between himans and napuré. = 3 ’
C. Focois iy e, e, s moineridBod RHBARAS. onitng:
C. :
Boegeornven wITTT, B3 C. aurond (oS 13 3, a e e _,og_m °
- &R 3 3 ridges, ladd d i C. O i irbil aij i
DFeITOA Aadd  IpIL ﬂdloaa%u By &&u w w.now.a .onm_..w_“. emﬁwm ir_&.. vaﬂ:o:%o inspect A
) ID3edR P o ide a reliable mode of the illegal turtl
WDRRITH DTyBE TOROD t1c: % (5] transport es nn_m= d = ¥ age. v~
R aouum&aa,ow:}aoﬁma w . ¢ s iPaly o uring | zes fOO
; B mons ) G
- oon season. _, Answer Options: (@)
. , V38 R ™ i i #250%~ —
V33 erodRwH: o s Answer Options: ™
(1) Bang (1) B only
(1) 200 F03, (1) Only one
(2) A 3B 303 2)
(2) «BBD 323, S q_m.. , @ Only two: (@ A and B only
o n
3) C 3»3 . N
303 ( S . Q Nt _,
() Fed 3w, sent (€) 2 ) Only three A (3) C only =
: o
@) xS oInFe O “ @ BEm O u i (4) None of the ab W -
ove 3
_ M& Z (4) B and C'only ﬁa“
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VI waeo&o&u aﬂﬂ%ﬁ&@

(2) Bmes, TpwoDodn, SewZen

3) G%moﬁqg..&bmvvo&u. 239
“(4) 2edacin, B¥nef, ST,
N SR D ]

RRINFON3?

STars

A mede )

RV R B

m&)&@l&@ bﬁm ldla

B. osOR%/3Ron0R

C. 330 B3

D. 0TSm0l

E. ®emore ()
F JoBE .
eu33 erONTD

(1) oS3 93

9 o =23

@ woa Y

4) = 323,
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52

53

Gifelsoniel Ga&a&ane AP T, 2016g

wny 89N BeVEASI, DO

A B nong ﬁuam& DORD

I voo&uw @D Gaﬂ.&

3O,
B. .ﬁuodau T¥peey Udao&u&o&@,

20020 8.03°. TwedIBoems |

3o T 230009 0T

Ot dpobdy mpeRkwd

o33330bdy, o,

C. 939 =0 3¢y (net present
<m_:wv IFII, B RS0
SRR NTS.

] i 5
2ed3 obesd BePd/Berdnidh BB alPAS?
(1) AdBang :
(2) B 3R C 3Ny
3) A% C 303,

(4) A, B&3C

T3,B0deseN, ReedY 83 NI o&uu
SePENRS wold BV Aa_mﬁmnm_ozu

PAralayd
(1) TRPob BdaTkES 37 A0 earteh
@) m9ohd HORTS arhE403 A0S

BN

(3) ™9ohY Soams 2ort ) &
(4

“4) 9abd mwbm

| P.T.0.

Part-1/ 230N -1
LALLILLLLIEALLE

50 The Pantanal Jis the largest tropical
weéfland and one of the most pristine in
the world. It sprawls across three South

n Oo_:_:gm. mo:mnon WQ.:

\3\ Brazil,)Columbia, Venezuela

3) >nmmdm:mu Bolivia, Chile

51 How Bwn%‘mw the following are marine
‘mammals? - ¢

e Y
A. Dolphin \

2
f o ¢ el R

B. Walrus

C. Sea Horse \

D. Porpoise

E. Ucmosm\
F. msaw\

Q Seal \

Answer Options:
(1) Only two
(2) Only three

GV Only four
oy 3 I3 SR &

S iy five i
At i (S

Papertl1(F)_R

Eﬁo:nm: countries. What are these?

—

29

.Ooumama the following statements/
statements about the. Compensato
>tm|.mwmm\§\:bu Fund Act, 2016:
‘A. The Act® mnoﬁanm mn:. the

establishment of a fund under th

.- Contingency Fund of India. .
‘||‘\\||-I

-B. The mc?.man Court of India
the T.N. Godavarman

e T
mulpad case 2002 ob

that a Compensatory Afforestation

Fund be nnmwﬁn. .

The term “net present value” is

C.
. .,mmmmﬁm ga\.\l )

in

p B0

Which of the following statements/
statements is/are correct?

(1) -A and B only
l\ﬁw\w and C only
(3) Aand Conly

4) A,BandC

53 Primarily,cloud is a dispersion of /

Neutral water molecules

suspended in air

Charged water particles dispersed
in air

Smoke and water vapours
dispersed in air

3)

Smioke in air. .

@

st ¢ RTO.
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54 o R33 3 ; ¥ . . India’s Osm:anmv\wmb-m has mapped the i
e SOHOD BoeS § NoBRVS. 57 %333 Bogodnd-2 D BT wppry « 8 points lie on the circumference of a bundance of S&_or element for the u
9 33 muoaol&n& RedR B3R 3 dewne ol ReeEeed) BeTITONG- aog, circle. How many more n:maz_mﬂonm_m M cH e p
MM 20&&9&%5 22w ZO&.x:mwmum@w.aui uuo&v&uo : ~can be formed by connecting these s i (]
nﬂw DY, %mwmaum&w Cv @9&0 R ..M A. . points compared to number of | [¢)) Calcium m
! QNV 14 B3 ( ANV . loam , ” nnwmdm_om.w ) MﬂHﬁTCN “ 3
2) 24 1) 14 . :
@ (3) Arecdodo M \ (3) Sodium.
@ 18 4) edodo . : (4) Helium
3) 16 5 0
ﬁ : (GTE S : 58 ..,me?.. 230 baromon 3 @ 18 ‘ ﬂ
O 55 >09u w ) .w S | =Y Ressps ok baiar Rier Why a cyclist can easily balance the pt
4 No3 x% &ﬁ%ﬁw 2Z-A DR | (D) ﬂ,beﬁﬂuv &wwu@baca Sz 037 - S:otes ‘cycle while O%O_EWQ : E =]
B 3.3033 x% | ’ (S g .
m 33 x% mw.vaum&_ x 3 &ﬁwmé&% A.C ,u..”o& ﬂZm&O& 3&8009) 55 > is x% 503 Emn B m:a is, x_§ of -_ s S mdoﬁon of the road n
™ (1) 50%- &) tadeds un_i ..... sum of sum of A and B. ,S:: is the (1) ~Due to'the
Wi e 23 o d 1
2) 62% 530D ﬂuM zoamnma velug of 37 T Sl f \Av\a to oo=m9‘<m:on of angular
0 e i
B) 75% AC 50% - . momentum
@ 37% (3) RoBir sBeeBOwA 3) D L ¢
o e 2) 62% -Due to conservation of energy
0 . () wp0d REE, S936 =Btomn . s PP : SR in
. 3) 7% ) i ‘Due to Earth’s gravitational pull
i , )
% mm ‘ %a&uw ﬂ_wwwm Beas 8393 ea Cﬁ\md odw 59 =\ogdderd D300, 2wy, Ty, IEIBI]), @, 37% . rﬂOv
O . 202139 v = nﬁae& so@ B ReeBTR, DPJeW 2egrteodrt 333139 5ty ! . SRR On'a moonisss .EmE éﬁ: one looks w
,..u (oo BORaeEE @m&.B& oSipe Brgless | TR Bosk 03—y mww@st: - dus) 56 The James Webb_ Space Telescopey | % “ifie night sky, can spot large number ™
R3,08 Seerdose Bredobd edodPA B3 0B, Sy Bomon (JWST) is a space telescope,launchied" of  stars with “varying colours. Some
= 3 iy 6
B erBp cSpedodRy  of obs RIS, fo) BID aws,H0iwA in 2021, which conducts space appear blue, some appear red, few
%.“uw o & = o BBRIS. OIS IS Reb astronomy in the wavelength appear yellow etc. The brightest among
- 3,03 Ve TR range of the electromagnetic spectrum. | them are:
3 ) . .
o~ 1) wetapdet (1) 26D 3R &3\ Infrared - , (1) blue stars’ =
W ol o
S @) o85Te _ () 20® Zrwd (2), Xeray 45 05 ." \@\:& Stars b4
P () HEpcSar () =96 e () = () Mijerowayets: (t | 7 ® vellow stars _ b=
sy (4) Bedolee I0on M @) 03 aedde vy (F " (4) none of the above - P
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BRI J3erdnor RooRaBed 3N 62

Be3/RYY oI BoaIeAS? "

A 3 a.uuauo A% vaa& JJBuuﬂauo
lbmwlo&ﬂu mdovmm vaouou
8&9&&0&010& Q%b,% @@1&%6

erobeRRROD 323.

B. 33913 30 B30
<3 . D = B, edI DB
DD VTRO3B DBVIID ubmnb&&
=030 8&@0&&%th010&
Reeddond. ., 3]
C. Bonse s
TOOTNRD  3ce3To38RSD,
RRBDIS. f )

ov33 erodynrieh:
(1) B w3

@ Amdc
(3) A 3B

@) Bed3 agRp

Tt g

2720339, Sﬁo&vm 2098030 10& 63
SRRBIDS 233 Bmd

(1) Reed
@ 233
(3) 22eed

(4) 333

Paper-I1I(F)_R 32

20@8ey, BRVW LB, OB

B3 gdey FR0TOD Ix, &&Volaum
©3 T78R00T FPRRTIT. R Qeong
BN9Y 2, ne Sotdodeonrt BT
0030 WwBRNT. D3T3, erse
Topadhd. RrhsSod 3033 BordS Rors
D3I Beerdd. 33 Bome,0d Bobme
Q0T BDoS ERIR & Amdalw
SATODETONT. BT DIFTOW Fe30dy
8 (GI-Prtocgs Retod) e @nd,
BBVD IIIRVOB 9T &emocd <538
2B DIAPAT,

V33 eradRed:
(1) 2302

2) g a3,
3) Beemo

4) 2D e

1% ]
L]

B 3INT 03n= Bocy P FRIId
Cl R

#%Ta0N WwIDI3?
(1) o2 -

(2) oordecs®

(3) 38z

) oindEe de’ g

Oi—ﬁm mﬁmnwawﬂn\

ich of the foll
Whic rect about the

60
s are cor

statement
Indicator mvoo_mmo
A \ Crayfish-can indicate the quality
of freshwater, because changes in
water acidity are stressful to them.

gmmzr of corals can indicate
trends such as seawater rise and

sea temperature fluctuation, which

in turn are signals of climate

change..

C. Peregrine falcons are mu _:m_omaou.
e e
of pesticides. 3t

Answer Options:” o

1
W Eonr \
2) Aand C

A m_z:x\

All of the above

61 \Hﬁn\a_\?\ﬁro crop that- accounts for
maximum share of ﬁom:o_am

consumption
Wheat —

(2) Paddy—

\m\v\uoim\
(t,

(4) Fox tail 8?2\ h

Ww—.a_._..:ﬁ—uvlz

Identify the tribal ooBH::EQ”
s tribal community worships their
puffaloes with lots of veneration.
s a ﬁmmq.o_d_ tribe who

NH: the z:mqn

Thi
dairy-
They are seen a
herd _ buffaloes nwmﬂ ‘To
hills. go:omm_ﬂ% is an ideal norm.
an:umboo after marriage is _umn.__oow_.

t the time of funeral rites, pbuffalo
mmndmom is obligatory- Their distinctive
Embroidery has gota GI Tag. The semi-
parrel-shaped huts are very peculiar and
us structures with no

have curio
windows. .
Answer Options:
(1) Chenchu--

(2) Hakkipikki -

\v;% -

(4) Jenu Kuruba

Which of the following .»v;um of
earthworm is a litter feeder?
(1) Epigeic

(2) Endogeic
(3) Aneceic

(4) None of the above

. PT.O.
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OB oInE Bevs/Bedingd BOIRAS?

A @
®obo veRen BedY Ivereddd

ooz 23obhd dorrns.

B.
DEITInm 80 AT o@D

Mweém@ 233 B SR o)
‘) T3, 9Godho MeRey wHI
RESE LIS

F3nce 3,8 0ot 93,0033y
Mmeow.w @ovon&au. 19623 Gwo&m
ot st T Y
o |
() A B ang
2) A 3 C 303
(3) B C ngm
@) A B C

65 .

‘ 33 B0oBI IR 3TEeRB Dby
230 BoRIRTAS? T
A. @m0 (HESCOM) i

' B. KXPTCL ' ! it
C. %m0 (CESCOM) |
D. KPCL T Y ) _
E. 328 (KAVIKA)

it DEwRD olrvod BN

VIDEIY O

(1) zoth Zmd, 7OodPNL

(2) &%tk Fnd, Zookpnig

(3)  wharh e, 70okh
(4)

Paper-1I(F)_M k7]

=), o, 7i00knGg

66 I3 ATy ey

67

g&c

WMO&Q&G\ 2 3
=1 wr O0BE Ddcaony nms

(Bureau of En
d ergy Efficjo”
Mﬂa 2 K003 o&u&a“wwow ; w
- S o3 3 Ron s
EV emecoms: .wc?a.‘L i
BRodRB duﬁwwamumuu&m&amuiamum_
. 3033 Zmoreadsy .u.dwaqy ¥
. dmewis 201730 By © R
wuoamup,mowuuw Laa ;
Eatet=loniy] }
G633 Rede duw.wUumnw.&uu
C. dumm eobZob NONA%.Hg
Mwu\.wam RBLPNE, (PPP) gy
3 T BSE EV e Inidg
2,500 2% FeR>"RIR ey
Tocs. 1
%0 evITIFy, erohIna.
(1) A BC -
@) B &3 C 203
@) Azng
(4) Scd3 aeIte e

3 , . ‘
D000 3%y, dmesfjoue (Shiksha |

Copilot) O3y IOreds
v lauw D34
A. 2y Al
~23093 9.2
oRg. B BRI’ Glﬂwoﬂq

B. 2 :
SO B, D Ry vag
Cuonmosszn& 3nego A
ToI,
= ()] -

oyt DRI RLPREND.

(1) Agns -
ﬂww, B ﬂuum Mg N
() A% B agre ,
) A vgm _w_.,aaac.u o0

, =do3nd

i) IP.T.O.

o ———

64 which of the fol
statements are correct? ; u&
A In Karnataka, Lithium 1€ s

lowing statement/

dya District.

'are found in Man
/ Kudremukh Iron Ore Company
* Limited is the sole exploration
agency which is exp! inj
area for lithium reseryes:
C. The thermonuclear application
makes Lithium as “Pprescribed
substance” under the . Atomic—

Energy Act, 1962.
||\\| -

Options:
(1) AandB only

Q) A and O ou@
(3) B and c only
@) A,BandC

65 Which of the following are electricity

distribution o”n\w& in Karnataka?
A. H.HmmOO_: Gl

B. KPTCL =%
C. CESCOMZ*
_ D. KPCL .
E. KAVIKA
Choose the correct answer from the
options given below :
(1) ©Only one is correct
\N&:@ two are correct;  7)
(3) Only three are correct o8
(4) Only four e noa.nmn, 'y

Paper1I(F)_R
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in Indiz’s Electsic Vebicle (EY)

revolution, sccnding w the Buress o

Energzy Efficiency (BEE) which o %

following js/are comTet.

A Karnataka js second “\:w“w
* yigharashtra #ith the highest

— .
B. %wn&?&%a.&%
Sgoacnngm\,\vomﬁw_wq 7

C. TheState m%ﬁ&%%@%%u& %
V'

the establishment of NM P

EV charging stations 207055 10e "
pPPP model.

Scanned with CamScanner

state via the

the correct answer:
K = o 7
A, BandC o

Ch

\\@\@ and C énly
7B and € €
(3) Aonl

67 Consider the following abo

35

(4) Nome o above

ut Shiksha _

Copilot, identify. the correct options:
A. It is an

assistant.
) Fricti

B. It is implemented to empower
teachers to create comprehensive

and Tpersonalized teaching

I-powered digital
d1gl

resources.
Options:
(1) A only
(2) Bonly : -
- (3) BothAand B
(4) Neither Apor B _
P.T.O:
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68 TRROOD TBH odeewmS (Swavalambi
Sarathi Scheme) 223 33 BwodI
VeI, Boreda:

A. 33 olnewmSod ®830HhY TOBF,
JonBEE oS3 D) DIobd
FaBITY,
T BoNTen |‘.>aclnuo,wxuuumwm~ [--T1a¥0)
2305° TPORD), B3I,

Mwo%o-od&b%i

B 90% s 3t s3e3 exgiem 703 5.00
&3 B9 R obrRay B0h s
ﬂd&u&uw D CODI anmﬁ.uwu@m
DeBeRrOP. .

eI odnd BePd/BevIRD a@mw.vww
1) A 3»3 ‘
(2) B 3»3

(3) A DB 288»

(4) A ogm B 238n @9

69 @el (nss, 2024) B3 SwodI

03T IY Idw &Fad&o 20T
PRcARTRODD?

) Qmmuo&uw@

(2) RwogohINd

(3) TR0

“4) 3,170
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70

71

BRINT Sielo S (Kyasanur Forest

Disease) 20303 83 I00DIBI, erchocess,:

A, RN Beeod3d mednih uﬂwa
OB NG RoBJBE BROBSI
w3 GVotIRA WID BBRJYT.

B. ®33e0 .oTm; F0S03n
S9Trs008330.

C. 330" ©Tr, FPDSodh
52 0HBYDR w3V obeFe o8
(ISR AION

D. =z 2389, FooDSoDRY, =Hort
53 (monkey fever) ao0m@w
3BoboRTdITY, 270330 S Pe3ri<
B003ag3R, 3oB20T0H AEES
TPIEWIB BRer; B R,0dPAT.

B3 B0edIF 03T BePE/BePEr D

RDoIpAS? TN

1) AHD 2) B C

(@ ABIHD @) AHC
3 R

20338 2B BI2ZT* odedse RSN
DB303 B3 IodI BePIRI, BOreda:
A. 333 QB2 &_@munl.,n_dn 3adndee

TR0 R IScrIBE B30T

2301, .
B. ﬁwam_oowuuwmuo&hﬂtam DT RET0E3FE,
doe3w®  (HAL) BI52m,0°

F3D0dord FWobweAd.

C. «adazissPSUS B 83 (Ne®
@aewv D odeezSodpng.

D. 20 3IXIend ox30369r 3-15
833°79 Beedobd 1,000 godere e
BIRFTRIJ, vz dIew HAL
odeee3dd.

83 BT 03T BeRd/BePIN D

RDoIPA3?

(1) B 3 C 23

(2) B 23 D 3»3

(3) A 23D 303

4 A, B, C23D

P.T.O.

TS T I N T e v

68 Consider the following statements

Swavalambi Sarathi}Scheme:

A.. Under this scheme, the Scheduled

about

Tribe youth and women will be
provided with a subsidy and bank

start self-

loan facility to start _se’

employment upits.

B. 90% of the unit cost or a
maximum of Rs. 5.00 lakhs will
be subsidy for the purpose of

nﬁ_,n:mmmzmm\ooﬁ transport
vehicle.

Which of the above statement/

statements is/are incorrect? 71

\u& only

(2) B only

(3) Both A and B

(4) - Neither A nor B

69 Recently (August, 2024) which of the
following was announced ‘as a Peacock .

~ Sanctuary?~

Adichunchanagiri
2) chgwmnum.:.—
(3) Kudremukh

(4) DBrahmagiri

Paper-11(F)_R 37

For ﬁU_wmwmmn le —‘maﬁl_u\ occurs
\\m Spread to peoP P ntact with

(3) A, BangD

out mﬁv\mmw-:.:.

3100615

through tick bites or €O
infected animals.
Kyasanur Forest
be fatal.

jere is no V:
people at risk for
Disease. )
Kyasanur Forest Disease, &
known ap monkey fever, is a
unique™flublic health problem
along the belts of Western Ghats
of India

Which of the above sta ment/

statements is/are correct?

(1) A and 2) Band C
(4) AandC

Disease cannot

accine available for
Kyasanur F orest

also

3100615

Consider the following statements

about the India’s largest helicopter

manufacturi cility:

A. India’s largest helicopter
manufacturing facility is in
Tumkuru District of Karnataka.

B. The factory is called Hindustan
Aeronautics Limited Nﬂ»?

3100615

Helicopter Factory. (o]
C. It is a greenfield project of the i
defense PSU. m\ %
D. HAL plans to produce more than o
1,000 helicopters in the range of n,
3-15 tonnes over a period of 20 ™
years.
Which of the above statement/ m]w.l..

statements is/are correct?
(1) B and C only

(2) B and D only

(3) A and D only

@4 A,B,Cand D

P.T.O.
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T2 330F 633 SDBDRWBDTT BT AeBoHR),
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aTd. e
A.  mobededodn 2024-293 :
GuUQ&ﬁwm&.

B. 33 modbededodn, 0 IReNRIS

o) 10 GW 3ed3oeadmend
QLI eVFT,TT bl.u&oewm&uw
BRotHA THOADI) wEPBRoRT.

C. 20273809, 83 5203059¢8030
©B03>9 | |dd wwoqew.,mu&
(Brzfewns) Rrewpt® woBdoBSe
evZBI0dNE 1 GW @ogIBJy
BoedBRRS THDobIY BeodH.

erod,mieos

(1) 20 BePd BPI, IDIPAT

(2) wotd BeR R, 3N
(3) Qg BePdnsb BdodeN:S
4) o Bevdnsd =N

73 330383 Ry Bwag0od,0dRd, 2024-

253¢c Beozomo IRET Towg, 2Ty

16 Se F2=0 202480t RroRrTH.

A. OVR oRPEB 2DBTTNRIR:
(i) SHoreed 20BR
23onE8Rd e (i) Dedo® DR
23onR B I3
G&@W&D&Qﬂo@&u. )

B.  oohet evsde gosd waead

[0odI DD IRendeert 32,000
MW do& 60,000 MW ror?
mwmmuueua@&u.

B9 DI 03T Bew/BeRIN D

KD odeNS?

(1) A 303,

(2) B 303

(3B) ADIB 2BER

4) A eogs B o0de 99
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74

75

2024-253¢ sPEB DRET Ty 2028etY

BoBIER: -

A. &?:ueo&@,mow_bwao&
2022-2339 B33 B3R II0T.

 B. R Soodsy 2021-228,03wn

2022-233¢) 3B BOR e3va.
C. 2022-2389 (3,303 ¥3S03hd)
37oee3dd 3weeedd> GSDP odn
2021-228,08 13% B 2d8aIRAT.
D. o038 Swemes> GDP odx
2022-2389 dweed Spwood

GDP od e9ge,03 3B otdh

900302 [IWBESONT.
erodneo:
(1) 2eBo 200t BePd FDOIPAT
Q) 3Bo TR Bevsrco ZOOIOAS
(3) 3Re et BePdnsh BDaIPAS

. 4) Qg BePinwd BdobeNES

3mortsd weles® 2024-258 8003

. Boodmd B33 RodIeBd,

A. oF33, JcBepd wedis BE-E))
(2024-25) & R33 RowodI
BeOBEIONOS BT,

B. Fpdex® ansdnt dedond welest
&wm@ (2024-25) =odr awesdhold
e N3, A .

C. eTweri; D3y o eyead,
BT &mw@ (2024-25) Jcood
=03 BB
AeaDPRE,03 BepAd.

B D0edI 03308 Bewd/BeVEr D

RBoiRN:3? ,

(1) A,Ba3C

(2) B 3 C 33

(3) A =@n3

4) BedI oInIrde ©Q
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‘ w This policy aims that in the five
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-
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The Karnataka Renéwable Energy

Policy has been cleared: by the State

Government .of. Karnataka. .

A. - This policy is for the period/0
2024-29. .

f

years, the state will have 10 O/<
renewable power generation

. capacity.
C. By 2027, under this policy it has
) been aimed to have a share of 1

GW of energy produced WVE ,
rooftop solar alone.

Options:

(1)’ Only one statement is correct
(2) . Only one statement is wrong
(3). All statements are correct

(4) All statements are wrong

ThHe Chief Minister of Karnataka
presented the Budget for the state for
the Financial Year 2024-25 on February

16, 2024. ! .

A. Two dedicated economic corridors

will-be developed between:
1y Mangaiuru Port and Bengaluru
and (ii) Bidar and Bengaluru.

B. Installed power generation
capacity will be increased from
32,000 MW to 60,000 MW over
the next seven years.

Which of the above statement/

€ fs is/are correct?

(2) B only
(3) Both Aand B
(4) Neither A nor B

Paper-1I(F)_R -

74 In t

state for the

A.

B.

C.

he OOEHOXH

of the Budget for the e

financial year 2024-25:

jcultur
The agniet ™ ©2022-23 than

higher 12
2021-22. 2
B Service sector grew ata Hoimu. nwnm\
" in 2022-23 than in 2021-22. !
c. The per capita GSDP © .
: “Karnataka in 2022-23 mmﬁoosndnﬁ
prices) increased by 13% OVeF .1
. 2021-22. ) .mw*
D. India’s per capita GDP in 2022- =
23-is estimated to be less ﬁr.mu
half of Karnataka’s.per. nmﬁ,:m S
GDP. 3
Options: e
(1) Only one statement is correct
) -Only two statements are correct
(3) Only three statements are correct
(4) = All statements are correct ”m
Lo
o
In the context of the _Sector-wise &
expenditure under Karnataka Budget b,
2024-25. ™.
A. Budgeted expenditure (2024-25) -

of Energy is more than that of
Agriculture and Allied Activities.

Budgeted expenditure (2024-25)

of Police Department is more than 10
that of Transport department. Mm
Budgeted expenditure (2024-25) &
of Health and Family Welfare is ‘=
more than that of Irrigation and ﬂ
Flood Control A

Which of the above wﬂwﬁmama\“ﬂmw

statements is/are correct?
A,B and C

(2) B and C only
(3) A only ¢
(4) None of the above

39
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Which of the statements/statements is/

are correct?

A. Global Resour utiook 2024
was published by the 5%
Energy Agency.

B. Global Waste Management

utlook 2024 was uzv_mu:& by

UNEP and H:S_.:m:om»\_\mo:m

Waste Association.

Living Planet rgort is a biennial,

assessment by conservation

organisation of the World wildlife

Fund (WWF). 4

Answer options:

(1) only
A and B only-
” (3) B and C only

() C only

How many of the following pairs are
correctly matched?

National Park State

A. Mouling Goa
National Park:

B. Inderkilla West Bengal
National Park: .

C. Anshi Karnataka
National Park: .

D. Chandoli Maharashtra
National Park: .

Mizoram

E. Mount Harriett
National Park:

Answer options:

(1) Only one pair.

(2) Only two pairs

(3) . Only three pairs

(4) Only four pairs

Paper-II(F)_R

41

agu. It
omwaonﬂ.,%u riverand also 2 sacred place.
e m about 60m high.

iets fro
The water jets :
and finally joins river Om.:<nd\. The
famous temple of Lord Shiva, _895.
hwara Temple, is situated

as the Rames :
nearby. Wandering beyond the falls is

restricted as the whole place is termed
as a wildlife sanctuary.

(e]
w

1

Answer Options:
%)) Gaganachukki Waterfall

) Shiyanasamudra Waterfall
\B;M Waterfall
\&\MEUQ Waterfall
79 Consider the following statements:
(Ve

A. The State Energy Efficiency Index e
2023 (SEEI 2023) has been o

developed by Bureau of Energy L)
_Efficiency (BEE) in collaboration ~

. with Alliance for an Energy

Efficient Economy (AEEE) to

track EE initiatives in the states
L

and UTs.
B. Karnataka has been categorized ﬂ

as ‘Front Runner’ jn the State O
Energy Efficiency Index 2023. m
Which of the above statements/ (M
statements is/are correct?
(1) A only N &
(2) B only ﬁ
.(3) BothAand B
(4) Neither A nor B

)
i

P.T.O.
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80 How many zeros end the number

2300. 5600 . 44009

(1) 300

(2) 400

(3) 500 \
4) 600

81 If x is a positive integer such that

2x + 91 is perfectly divisible by x,
then the number of possible values
of x is
P 2

@ 4 ~
3) 5

@ 6

82 Diamond price is proportional to the
square of its weight. This diamond
broke into four pieces with weights in
the ratio 1:2:3:4. Therefore the
merchant got Rs. 70,000 less. The
original price of the diamond is

(1) 1.25 lakhs
(2) 1.5 lakhs
(3) 2 lakhs
(4) 1 lakh

83 Each odd digit in the number 5263187
is added by 1 and each even digit is
subtracted by 1. The digits obtained are
arranged in ascending order. Which will
be the third digit from the lefi of the
new number?

1 4
2 2
3) s
) 6

Paper-11 (M_R
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:ino for questions
. the following
Consider

87:
o :.rmmm tournament 64 players ranked
Inac

5 lowing were
ici NHWQ. Nu.o— j
1 to 64 ummﬂmmﬁ ock-out tournament:

f
the rules O :
I There were SIX roun

tournaments.
In the first round, Match 1 Mw\mw
played between player Wm:_onm s
vs player Ranked 64. Match 2 M< "
played between player Ranke

vs player Ranked 63 and so on.
In the second round, Match 1 was
played between the winner of the
Match No. 1 of the first round vs
the winner of the E\Q\ol.@
of the first round. Similarly,
Match 2 was played between the
winner of the Match No. 2 of the
first round vs the winner of the
Match No. 31 of the first round.
Next all rounds were played with
the above mentioned rules.

II.

III.

Wn:r?.-a von the tournament, then
the following players cannot

be the runner-up?
A. Player Ranked 44
B. Player Ranked 45
C. Player Ranked 46
D. Player Ranked 36
Options:

(1) A only

(2) Band D

B3) AandcC

4) cC only

P.T.O.
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[0 O
&,ani &u&m@a@ 29 B¢ g o wn
w : o%u@ggaﬂd 5,8 9&0@ 5803 88 ngz BRI, <im m
0 O RO adwgy? 303 3asp 3, Boresn: o
w @u S7 oS WD SR, 85 Who could be the lowest Ranked player 88 Consider the following Statements sr... - <
L | ) 59 o ° facing the player seeded 29 in the dogs. 0&& 4 Q.“ =
™ B3) 62 . R D Syedrvens, finals? : . No cats are GOgS. @ = ?WWW =
4 63 302 T wiyrde (1. 57 it - Firk All dogs are animais. 2
=3 S s , c
DD Bewdng Qﬂua& bed atngy @) 59 Some animals are not nmﬂw. ?%Wm m
=
86 : 07 (3) 62 _ - O
Q&u@ﬂuaabo&u Rraes® 14 Ze (D) 80 SR moetrvons, o & Based on the above statements which m o D
55 3e RIBRpere u&u R D 5 b ) j is true:
Y I o&u@aaaw w9 ano&w @) obnzye mctumtes axtyrieg 4 (0 s t i W\
Npoleiat : - et g ome cats are anima
RPENY IDd3 o 05 > Smeses B) oo @medred wawrvens 86 If one of the matches was between the .
A 25 3z : . players seeded 14 and 55, then one of (3¥ No dogs are om_nm\ Te]
% 52 : A . @) 29 movrw SRvons the matches in the tournament can be . ) ~
B. 43 3y 47 4 : ) between players seeded . (3):/All animals are aommw\ 0
- : - o
c. 7 - T A. 25and 52 - (4) All dogs are :
o8 mo, i 89 “abd works auuvamoauu 3rhiehZes” B. 43 and 47 , ; ) n\m m
. Rimeogcdmong? LI C. 7 and 39 . ;
QOwwlawo.... . ? b’ 206 89 Which of the following statements is
’ o - logicall; i . : -
1) B a2 D g A =D B3,0dby, i . - 8 y equivalent to : “If it rains
3 o&@ 9 Options: I will ¢t e
; (Y 4 ake an umbrella”?
@ amgc i ® Bin X 161k o
B. . take an umb it wi .
(3) D= B =D 33,03y Fbdodand e (2) AandC : szgbrelts, st will Bs‘ — \
T = 0 e 89@00 : G) Dand B . B. IfI do not take an umbrella, g % |
{ C 303 S ; . |
i . C. 9 udogd wb gy @ Conly ° : oruning 7 =
; .oi&uw.oao@vo : : d O\ﬁaoﬁ not rain, I will not take ™
87 3 _ . < an umbrella. -~
ﬁ : ﬂw&..ﬂ Qw“nw 38D T05°3 Bpeody el D >3y IROIBLD 9 erds. 87 If there are only five such cases when
. T,083 RRE ob, AeedD3 BRoninwb owd ) 033 erabyri: . a lower Ranked player beats a higher D.  IfI do not take an :E&nn:m it
} w &uumow ﬁﬂaw. BB adI, Hoen Hunw%v 3 - : Ranked player in the tournament, then c:: rain. Z
' G&%@ 36D gao%u RPEIRT? 1 A 3 B E_.uo mo:E be the lowest Ranked player Answer OESE. . Ty)
™ (1) 32 . . winning the tournament? 3 -4 -
@ 16 @ Cong M 32 : (1) AapdB ©
m 3) 17 (). B3 C () 16 C only w
4 63 4) D 303 (O VA () BandC <
) :
. 4) 63 =
Paper-II(F)_R 4 . @ . (4) D only mlm
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e
w o ) 3odn 2022- Nq& ooy 3 90  Which of the following statement/ 92  Consider the following statements with
odeoar? 83 Zauuwo&&u o3 & &toaa statements is/are incorrect about the
O- uo_oaeu BeRIRID, 3 g ¢ ference td Karnataka Data os:a
oS B ga&agmﬁu , > &01&?. Kasturirangan Committee? ECICICH
S - B a?w Bilepve] U&m&&Q&& Lén&u i - A. The Committee was set up i Policy 2022- 27. ™~
4 a&uuauovlauu PR IS B A £ T3, 2010 to come up with th O
RO 3 a.ad p
™ SCETY &o&o Loaww n.w,_mm.u@&. ; o& mﬂ.o& L, or Dﬁ? Karnataka Wildlife Action Plan Muu
S &o@abeea i ﬂw&vo& TOELIBIIY  erody o& Jiu B.  The Committee recommended the A. The vision of the policy is making i
DRI T i £ i 1vi 1 =
Ert ot Importance of invo Vving loc Karnataka a destination of choice
e %Jm.bbu@umauu 393 Imag, N &uu&o&vavu vamo& communities in environ = i
Ly ) DoEes SRETT)  Ioa o3> BeBgacinng. management, seeking 4 balance or futuristic data centres. 4
=4 élﬂ%b 20230833, ) 7 between ‘development and
w N : i
LS D. mr 2?@9& B30od 3033 B3> B.  aomed B T3y, a3, Fna o ervation. B.  Itaims to achieve low carbon foot m :
S Ses 1 < ru_oﬁoﬂ&@ rfcs 2 .Y.*\,_.ra Karnataka Government has 9
€ : i :
ﬁ AQmam: committee on <<nm.%oyww. it T : i@\w@%ﬂmﬁwﬂwowg 383\53%8 2o Tonewable energy source- “
I . based i :
QO@&MMEWGV Q&uu G&i@ﬁnﬁu)@u uyamoaﬁmoga 2053 &van.i@ D.  After the committee’ s report, a ased powering for data centre. ~
NAL=H ] Seu%w. Quoinlbmv Gadgil Committee on énmﬁ_d M
(1) A, B &u%bs c } . Ghats was prepared C. It aims to establish Special
2) B,Ca3D hRed ougfedacs. UL Options: Economic Z %
. 3) A C 2D (1) A, Band Y one.
ﬁ 4) A B 23D C. 23exd espe Soobay, ﬂ.ﬁau (2) B, C and DV 9
W : = © ovged Boond AMV W.M.«EMW D. wn omw,n—.m support through ﬂ
Ml.Uv 91  =3ean ‘enoe Do’ DD, wrd b . : = . d oentives and Income Tax m
A TR : . €xemptions, - {
ﬂ 2O &809& mwanuwlamwu 801&2. RIS b wmod dent 91 Recently gy was in news. ™ I
Al oD IRIDES &&mmweo DTPWIRIy, Derod Rwsmo3y " Consider the folldWing statements it A/
—_— ich of the ab
NTRRBSITONT. ook, derhdd, WHEEM ¢ above statements are
B. o TETE 2005 IRV = . A.  Ttis an innovative vertical garden, correct?
. d k 3
DRRRROBD. D3 ol BeodRdy Roobend? B Ttwas designed by Patrick Blane
i C o DB, BIPeoR 2093 R33. C. It uses the water efficiently. - (1) Al the statements — .Rl.u
E Y & . Irec
v D. =33 soderom eozaT4 cod (1) 20 Beoird Roipng D. Recently it was E,zsorn.a in b
O - : Kempe Gowda International o
DIPI VeRRED BBy, p
(e - Airport. (2) Only three statements are correct ©
o Iw.aomuueuouu . @) &59 Beirsd uba aao&um& Which of the above are correct? b,
- BeyoB odnD Bed3 RBIPAR? 5
™ g 338 Ses (1) All of them Only two statements are correct .
1) eI = seg () BB Bevdrisy 03, Zooknss (2) Only three of them %
P @) epnieg &M@M &uu&c () Oy two of idiem (4Y” Only one statement is correct
(3) oBRY o 3 4)  womd B0t 23 BooboRG (4) Only one of them 3 e
(4) PRI woth RIng, E
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Consider the following statements.

e
>

\

A. Infant mortality rate
B. Under 5 mortality rate
C. Neonatal mortality rate
D. Early neonatal ‘mortality rate

Which of the above indicators has
shown a declining trend for the period

of 2011-2020 for the state of
Karnataka?

(1) Only one of the above
(2) Only two of the above
ee of the above

All the above

Consider the Padma Awards 2024 from.-—

—
Karnataka and relevant field.

A. Ms. Shashi Soni - Trade and
Industry
B. Shri Somanna - Social work
C. Ms. Prema Dhanraj = Medicine
D. Shri Rohan Bopanna - Spo!
How many pairs are correctly matched?
(1) Only one pair is correct .
(2) Only two pairs are correct
(3) Only three pairs are correct

(@) All of them are correct

Paper-11(F)_R
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\Q\u Chief Minister of Karnataka'

Which of the following research

institutions centre are situated in

Kammataka?

A,- National Centre for wgm@nw_
¢ Sciences ~

B. /Indian Institute of Horticultural
Research
C. Central Power Research HnmmERﬂNQ

D. ICMR-National Institute of
Epidemiology - IAM

3100615

Choose the correct -answer from the

3100615

option given below.
(1) All of them

(2) Only three

(4) Only one

3100615

96 The Karnataka State Wildlife Board

- \\n\ll
(SBWL) is headed by -
\\|

\

n
. @\m\oamﬂ Minister of Karnataka m
Wildlife conservationist will be m
appointed by Governor of —
Karnataka "
(4) None of the above are correct wfu
P.T.0.
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Which  of the following is/are
w::o:m:m.:m as City Cptporations in
Karnataka?

91\‘/

& petgiums? gr s,
\VW\erwaygm\\\»\\”
D., Zmumv&rm. ,.. s

E. . Bellary

r
Choose the correct answer from the
o.n_.ﬁ_od_ given below.

1) O.:Q one is correct

) .O:.w two are correct

~ Only three are correct

¢) “Only four are correct

. \ ,%rmos one of - the ,wo:oim:m
ﬁ. m@ﬁo?&oﬂ?oﬁ% entrusted for the

devélopment of Hanvana\.}:mﬁm s/
. Helipads. in Karnataka? -

OF ﬁydw
» Wm.wm.uo
) _w.mn,o,o
@) KskC

1=vnm—~gvlﬂ .

w. Which one of the following source of .
99

irrigation contributes highest percentage
; A .
share to net irrigated area in HAE.BNSWN

"(1) Canals irrigation

(2) Tank ma.mmmo.:

(3) Wells irrigatio;

(C)) ‘ube wells/bore $w=m irrigation

- 100 Six books N, Of R, mu T wme. are places

side by side. R, Q and T have blue
covers and other books have red covers.
Only S and U are bni, books EE rest
are old. P, R and S are law reports and

the rest are Gazetteers. Which books

are old Gazetteers with blue covers?
\sﬂm : %\ :

u_\

HMW -
w\pwmn%?
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